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Please read the instructions carefully.

This question paper consists of 21 questions in two sections : Section A
& Section B.

Section-A has Objective Type Questions whereas Section B contains
Subjective type questions.

Out of the given (5 + 16 =) 21 questions, a candidate has to answer
(5 + 10 =) 15 questions in the allotted (maximum) time of 2 hours.

All questions of a particular section must be attempted in the correct
order.

SECTION A — OBJECTIVE TYPE QUESTIONS (24 MARKS) :
(a) This Section has 05 questions.

(b) Marks allotted are mentioned against each question/part.
(c) There is no negative marking.

(d) Do as per the instructions given.

(vii) SECTION B - SUBJECTIVE TYPE QUESTIONS (26 MARKS) :

(a) This Section has 16 questions.

(b) A candidate has to do 10 questions.

(c) Do as per the instructions given.

(d) Marks allotted are mentioned against each question/part.

SECTION - A
(Objective Type Questions)

Answer any 4 out of the given 6 questions on Employability Skills. 4x1=4

)

(11)

In Stress management techniques, speaking out to the well-wishers

like family and friends is of help, as they providea __ system. 1
(a) Financial support (b) Physical support

(¢) Social support (d) Moral support

The individual who has the ability to work independently, need not
tobe __ for task completion. 1
(a) Supervised (b) Obstructed

(¢) Appreciated (d) Criticised
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(111) A software program that attaches itself to other programs and alter

(iv)

)

(vi)

their behavior is called

(a) Infected file (b) Computer virus

(¢) Infected drive (d) Human virus

We change the appearance of the text in a document through the use
of various fonts, font colors, font size etc. by a process. Name the
process.

Based on the various responsibilities of an entrepreneur, the
entrepreneurship covers multiple functions, one of those is

(a) Utilization of available resource

(b) Providing employment for the family

(¢) Expanding business for personal gain

(d) Make money

As the number of entrepreneurs increases, the number of
entrepreneurs selling the same product also increases, and as a
result of healthy competition, the price of products

(a) Rise-up (b) Remain constant
(¢) Go down significantly (d) Neither rise nor fall
Answer any 5 out of the given 6 questions.
(1) 6 x 4 drive chassis vehicle consists of 6 wheels, out of which are

(11)

(111)

the driving wheels.

(a) 6 wheels (b) 4 wheels

(¢) 2 wheels (d) 3 wheels

In fitment of hood of an automobile vehicle, around the edges of the
engine compartment on which the hood rests, when closed, are fitted
with .

(a) Ravets (b) Nails

(¢) Rubber bumper pins (d) Rubber coupling

Name the volume of cylinder (including the combustion chamber)
above the piston, when it is in the TDC position.
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(1v) The component of suspension system which prevents the suspension

from bounce after spring compression and extension is called . 1

(a) Shock absorber or strut (b) Strut rod

(¢) Control arm (d) Spring

(v) The unit of electron flow or how many electrons are passing along a
conductor in a second, 1s . 1
(a) Volt (V) (b) Ohm (O)
(¢) Amps (A) (d) Newton meter (Nm)

(vi) From the given sketch, identify the steel section of the frame : 1
(a) Cross section (b) Channel section
(¢) Box section (d) Tubular section

Answer any 5 out of the given 6 questions. bx1=5

(1) Name the set of hand tool, which is opened at one end and closed at

other end. 1
(11) A hand tool used to cut the metals, which include steel sections like
rod, angle iron, channel section, sheets, pipes etc. is called . 1
(a) Chisel (b) Hand hacksaw
(c) Cutter (d) Pler
(111) Micrometers use the principle of to amplify small distances
that are too small to measure directly into large rotations of the
screw that are big enough to read from scale. 1
(a) apitch (b) a tooth
(c) a screw (d) a scale
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(vi)

Answer any 5 out of the given 6 questions.

(®)

(11)

(111)

An electronic measuring instrument that combines several

measurement function in one unit and also known as VOM(Volt-
Ohm meter is called

(a) Combination set (b) Multimeter
(¢) Tachometer (d) Voltmeter

A wrench having parallel jaws at fixed separation (often on both
ends of the handle) is called .

(a) Tappet wrench (b) Socket
(¢) Torque wrench (d) Flywheel puller

For heavy shop and industrial use, Ingersoll Rand two stage electric

air compressors are designed. These air compressor are
(a) Vane air compressor

(b) Rotary screw air compressor

(¢) Reciprocating air compressor

(d) Centrifugal air compressor

One of the proper steps for manually cleaning a motor vehicle, is

(a) All the doors and windows should be closed.
(b) Jack up the vehicle.

(¢) Doors and windows should be opened.

(d) Park the vehicle under the tree.

Changing your car engine oil is easier than it sounds and could also

save money in the long term. It should not take longer than _ of
time.

(a) An hour (b) 90 minutes

(¢) Two hours (d) 45 minutes

The coolant, antifreeze or radiator fluid help the car engine from
overheating. If it is not changed in given time, it will cause :

(a) Massive damage to engine (b) Cooling to engine

(¢) Over speed (d) Not any loss to engine
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(iv) Changing a vehicle’s fuel filter is a regular part of which

maintenance ? 1

(v) To prepare the car for changing of engine oil, the car should be
parked on a level surface with . 1

(a) Parking brake off and engine on
(b) Parking brake on and engine off
(¢) Foot brake on
(d) Engine disconnected
(vi) One of the precautions in manual washing of car, is ) 1
(a) Wear tight fitting clothes
(b) Wash both sides of the vehicle at a time
(¢) Use detergent

(d) Use car wash soap

5. Answer any 5 questions out of the given 6 questions. 5x1=5

(1) The customer service is a series of activities designed to enhance the

level of . 1
(a) Information (b) Workshop services
(¢) Testing (d) Customer satisfaction

(11) Automobile Sales Person is expected to perform a set of duties, from
given below : 1

(a) Schedules first service appointment.
(b) Issues driving license.

(¢) Arranges tours.

(d) Ensures good service of the vehicle.

(111) Name any one of the reasons for the development of innovations in
automobile sector. 1

(1v) In heated and cooled seats innovation, electric coils warm the seat

and to cool it. 1
(a) Icepack (b) Air circulates
(¢) Cool water circulates (d) Extra air-condition
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(v) One of the top 5 best innovations in cars, safety technology, is

(a) Heated and cooled chassis
(b) Speed control
(¢) Fuel control

(d) Roll over prevention

(vi) In the innovation development, the cutting edge safety technologies

will offer drivers not only added safety when behind the wheel, but

may also offer them discounts on their

(a) Car insurance (b) Fuel cost
(¢) Life insurance (d) Road tax
SECTION - B

(Subjective Type Questions)

Answer any 3 out of the given 5 questions on Employability Skills.

Answer each question in 20-30 words.

Write any two benefits of Stress Management.

3x2=6
2

How does “going on vacations with family and friends” help in Stress

Management ?

What do you understand by Interactive (GUI-based) operating system of

computer ?

Write any two functions of an entrepreneur.

Write two ways, by which a person earns a living.

Answer any 4 out of the given 6 questions in 20-30 words each.

What do you understand by Viscosity ?

Write about sprung weight of suspension system.
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What do you understand by mallet ? 2
How will you fill up the engine oil in engine ? 2
What is the importance of “Feel Good Factor”, in customer service ? 2
Write about the innovation of “Antilock Brakes”. 2
Answer any 3 out of the given 5 questions in 50-80 words each. 3x4=12
Write the requirements of a good braking system. 4
Name all the special tools used in an auto workshop. Explain flywheel

puller. 4

Write all the steps of changing ‘Air Filter’ of an automobile engine. 4

Abraham was shortlisted for an interview, for placing him as an
automobile sales person. He was asked to tell 6 sets of duties expected
from him. Explain these duties in place of Abraham. 4

Write any 8 innovations, the automobile has gone through in recent times. 4
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